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[image: image25.png]Thus, the total power absorbed in the circuit is 741 mW and the power in
the circuit balances.




[image: image2.png]b] py = 52(4) =100 W
psoa = 12(50) =50 W
pesa = 22(65) =260 W
pog = 3%(10) =90 W
psa = 42(25) =400 W

[c] 3" Pais = 100 + 50 + 260 + 90 + 400 = 900 W
Pyey = 150i, = 150(6) = 900 W
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Note also that

ig=1d1+i3=24+3=5A
it +i,=5+1=06A
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(b)
[image: image10.png]Element | Current | Voltage | Power | Power
(mA) (V) Equation | (mW)
15.2V 1 152 p=—vi —15.2
10k 1 10 | p=Ri* 10
0.8V 1 08| p=—vi —0.8
2000 30 6| p=Ri 180
Dep. source 29 4.5 p=vi 130.5
500 29 145 | p=Ri? 420.5
25V 29 25

p=—vi





[image: image11.png]the sum of the negative power




[image: image12.png]—152mW + —-0.8mW 4+ —725mW = —741mW




[image: image13.png]the sum of the positive power




[image: image14.png]10mW + 180 mW + 130.5mW + 420.5mW = 741 mW
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Using Current Division
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Ohm Law
[image: image17.png]Vi = —(6.75 m)(15 k) = —101.25 V




KCL or Current Division
[image: image18.png]i3 = 18 m — 6.75 m = 11.25 mA
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